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Geometry 22: Practice with (1,2-) 1.5

1. Use the diagram at the right to decide if each is true or false. Explain
(/% a. 22 and 5 are adjacent angles. False. /_"D,;{@Q Chgee o Sickg 51

. =i} .
b. Z1and Z4 are vertical angles. ‘TYLtQ, ﬁZ
c. ZAand £5 are complementary. . 1 S0 ey acf L. pr, SO
) r:fb\ Q/ “4 vy SU‘QPLQJV\W"&_

2. Name an angle or angles in the diagram described by each of the following,

~ a. complementary to ZBOC 2 BOH

b. supplementary to ZDOB 2 /,H)f)

c. adjacent to £Z40C < Do

3. For the following exercises, can you make each conclusion from the information in the diagram
below? Explain.
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a, /BCE = /FGE ' - T b.FE=EG ) O
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c. DE = EF
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4. Sketch the following situations with appropriate tick marks,

Foe-

d. ZADB and ZFDE are vertical angles

4

a. ZABC and £CBD forma c. ZLMOand £LPMQ are
linear pair. }/ vertical angles 0
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b. X¥ bisects /WXZ

M
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5. Using the diagram below, given that m£AOB = dx 1, m/BOC =2x+ 15; m£AOC = 8x 4 8. Solve
for x. Find the angle measures. @

Uy | + 26HS = Sxt§
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6. Using the diagram below, given that OB bisects ZCOA. Given that m/AOB = 3x + 8 and

msBOC =2x + 14, What are mZA4A0B and m~A0 ?d,_
‘@ Hot

A8 =t Y
x =




7. ZJKL and ZMNP are complementary; m£JKL = 2x — 3 and mZMNP = 5x + 2. What ate mZJKT, and
mZMNP? Show a check for your answer,

A5 Sx +0 8 Q0
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8. §§ bisects < PQR. Solve for x and find m~ZPQR. Hint: Draw a diagram
a. mZPOS = 3x; msLSOR = 5x — 20
g'x e Sx-20

A= Iy

b, mZPOS = 2x+ 10; mZPQOR =55 -3
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9. The measure of one angle is 38° Tess than the measure of its complement. Find the measure
of each angle. %+ Y =90

X = @M&Lﬂ 74'"""5“’38 | i
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Do 3= 40
)
= '3,8
fy " g = b4

10.If £1 and /2 are form a linear pair. m./1 is 12 more than 6 times the m£2, findmZ1 and ms2 .

mbg“%- X =yt \2 by Ha 1y =160
~ ] rip= 80
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11. If Z1 and L2 are comp}ementary, mZl=x*-2x and m~2=27°. Find x and m~1. Check your
answers! . v 9k Y= 0
Xk =370 el = % /Zvﬁ (U)
x,q\ﬁx +7\ O 9*-2(4) ("‘73 2(3
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